UFP-420

?’4 PREMIER
®ad NOoUuNTS

The original holding company

UFP-420 INSTALLATION INSTRUCTIONS

Westinghouse (LTV-30W2) -

Mounting M4 x 20mm Phillips Head Screws (Qty 4); M4 Flat Washer (Qty 4); Flat Washer (Qty 16)
Bracket ViewSonic (N32.5\.N) -
M6 x 20mm Phillips Head Screws (Qty 4); Flat Washer (Qty 16)
(Qty 1) Sony (KDLVAOXBR1) -
M5 x 16mm Phillips Head Screws (Qty 4)
NOTE: For the Westinghouse and Viewsonic displays, the following spacers must be used:
Westinghouse -One M4 Flat Washer must be used with each screw (between the screw and the
adapter plate) for a total of four M4 Flat Washers. Four flat washers must be placed between the
adapter plate and the display (four per screw; sixteen total).
ViewSonic -Four flat washers must be placed between the adapter plate and the display (four per
screw; sixteen total).
1. Invert the flat panel display and place it on a soft, flat surface.
2. Locate the four (4) mounting points that are found on the back of the flat panel display (Figure 1).
3. Align the UFP-420 to the flat panel display mounting points.
4. Use the four (4) M4 x 20mm Phillips head screws to secure the UFP-420 to the flat panel display

(Figure 2). Be sure to place the 1/4” nylon washer between the bracket and the display. Do not overtighten.
5. Mount the flat panel display to the LCD mount that was purchased, following the supplied instructions.

Mounting Point

Figure 1

Page - 1 -

Installation Instructions




_" UFP-420

M4 x 20mm Phillips Head
Screws

1/2” Nylon
Washer

UFP-420

Figure 2

Page - 2 - Installation Instructions



